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The following system of equations

I+ 3i+z=9

2x4+5y+T2=32

X+ Ty+llz=T7
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The points in the argand plane given by

Z,=—3+5i. Z,=—14+6i. Z,=-2+8i. Z,=—4+7i froma
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The set of real values of x for which the inequality |1 — 1| - |x - l| < 4 always holds good 15
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If the roots of the equation x~ + x+a =0 exceed a. then
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The equation x° —5x° +5x” —1=0 has three equal roots. If &z, 8 are the other two roots
of this equation. then o+ S+ aff =
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If all possible numbers are formed by using the digits 1. 2. 3. 5. 7 without repetition and
they are arranged in descending order. then the rank of the number 327 is
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If @ 15 the number of all even divisors and b 1s the number of all odd divisors of the number
10800, then 2a + 3b =

10800 JSopr B ooy Jbegrassve Soz
] \J :

=
E,;'\
e
&
15
|
E-.'I-
7]
']
]
B
778
]
&
c
o
C
3
(=
c:-l

©wowd, edyd 2a +3b=

Options :
L # 12

7.

=

& 96

L4

L« 136

Question Number : 17 Question Id : 4928631617 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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If the coefficient of x° in the expansion of ax” + b_) 1s equal to the coefficient of x ™ 1n
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For ne N.in the expansion of ( X +avx ) . the sum of all binonual coefficients lies

between 200 and 400 and the term independent of x 1s 448. Then the value of a 15
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If A(n)=sin" a@+cos” &, Illeu-A{l]A(Jr}-r-4[2}.&{5] =
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Number of solutions of the equation sinx—sin2x+sin3x=2cos” x—2cosx in (0.7)1s
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In a triangle ABC. if 4 =2B and the sides opposite to the angles 4, B, Care o+ 1, o— 1 and
o respectively then o=
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In AABC. right angled at A. the circumradius, inradius and radius of the excircle
opposite to A4 are respectively in the ratio 2 : 5 : A. then the roots of the equation

-

“—(A=5)x+(A-6)=0 are
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Let 37 + j —k be the position vector of a point B. Let 4 be a point on the line which is
passing through B and parallel to the vector 27 — J+2k . If ‘E‘ =18. then the position

vector of 4 is

o8 Dot B Twog), &d S/ 37 + j—k eikomo. Bibowdas, 27 —J+2k
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=18 =oxnd, 4 DooE), e D&Y
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Correct: 1 Wrong: 0
The vector that is parallel to the vector 27 — 27 — 4% and coplanar with the vectors 7 +

and J?+}? is
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A line L is passing through the point 4 whose position vector is 7 + 27 — 3/ and parallel to
the vector 27 + 7+ 2k . A plane m is passing through the points T+ j+k.7T—7—k and

parallel to the vector 7 — 2 . Then the point where this plane v meets the line L is

28 B L 74273k & 583m fo QoY 4 dhomddr, 2 +j+2k 383
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. w 31 +3j-k
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If the position vectors of three points 4, B, C respectivelvare 7 +27 +k. 27 —j +2k and

i + J +2Fk . then the perpendicular distance of the point € from the line 4B is

Sords Dodes 4, B, Co Gug), 6 hfes SWSm [ +27+k. 21 — j +2k Soociwn
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The volume of a tetrahedron whose vertices are 47 + 57 +k.—7+k.31 +97 +4k and
—27 +47 +4k is (in cubic units)

A7 457 +k. —T+F. 37 +97 +4F 500050 —27 +47 +4k wiso Soreom #0ns S
WH0hree (08 crabd)
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If the vectors b.¢.d are not coplanar. then. the vector

.(E;}.;-ZT)K(FRHF[Exfl?{ff?}“gﬁ(HKJ)K(EKF) .
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X,. X,. ... X, e n observations with mean ¥ and standard deviation o

Match the items of List-I with those of List-II

List-I
(a) Z[-‘:f_l_'} (i)
=1
(b) Variance (¢7) (ii)
(¢) Meandeviation (111)

(d) Measure used to find the homogeneity (1v)
of given two series

List-II
Median

Coefficient of variation

Zero

Mean of the absolute deviations from
any measure of central tendency

(v) Mean of the squares of the deviations
from mean
X BoGgo0 Hdcln O ENITOI0E X)L X,. .o X, 00 71 O30T

rar-I 70 worod, da-1l &0 TS 28558506,

arder-1
@ 2(%—%) (i
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®) 2598 (@ (i)
() BHodgw Adedo (111)
(d) Bodk SdEse drdohd (1v)
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(V)
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Correct: 1 Wrong: 0

The variance of 50 observations 1s 7. If each observation is multiplied by 6 and then S is
subtracted from it. then the variance of the new data 1s

e £ ey b £ - e = o ‘. g - e S R =
50 5830 D58 7. (B8 583035 63 fdod, & SHTE 5 ST vyl I7) FY
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Question Number : 37 Question Id : 4928631637 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct : 1 Wrong: 0
Two dice are thrown and twa coins are tossed simultaneously. The probability of getting
prime numbers on both the dice along with a head and a tail on the two coins is

' wif
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Correct : 1 Wrong: 0

S persons entered a lift cabin on the ground floor of a 7 floor house. Suppose that each of
them independently and with equal probability can leave the cabin at any floor beginning
with the first. The probability of all the 5 persons leaving the cabin at different floors. is
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A company produces 10.000 items per day. On a particular day 2500 items were produced
on machine A. 3500 on machine B and 4000 on machine C. The pmbabi]iw that an item
produced by the machines A. B. C to be defective 1s respectively 2%. 3% and 5%. If one
1tem 1s selected at random from the output and is found to be defective. th-:ﬂ the probability
that 1t was produced by machine C. 1s

b ]
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A random variable X takes the values 1. 2. 3 and 4 such that

2P(X=1)=3P(X=2)=P(X =3)=5P(X =4).If 6 is the variance and 1 is the

mean of X'then g2+ 1 =
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Correct : 1 Wrong: 0
An executive in a company makes on an average 5 telephone calls per hour at a cost of
Rs.2 per cell. The probability that in any hour the cost of the calls exceeds a sum of Rs.4 1s
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A quadrilateral ABCD is divided by the diagonal AC into two triangles of equal areas. If
4, B, C are respectively (3. 4). (—3.6). (-5.1). then the locus of D 1s

&8 Sebdne ABCD, o §go ACT 353 3F7ogo KNS Sothd @iherenn JEzodeddos.
A, B, C e S%03m (3. 4). (3.6). (-5.1) wowd, esdyi D Iwg), Hokbdgswn

Options :

(x—81=57)(x—8v+11)=0

g (X=8¥—=5T)(x—8y—11)=0

[

. Bx—8y—57)(3x—8y+11)=0

, Bx—8y-1)(Bx—8y+57)=0

Question Number : 43 Question Id : 4928631643 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

By rotating the coordinate axes in the positive direction about the origin by an angle a.

\/_ J_ ] in new coordinate system then o =

if the point (1. 2) 1s transformed to [

NEFOE ol Srododid dyTs $SBYST o Foo 0.8 @mo TododSdyd (1. 2)

331 J:?+3]m

&3 Dot SrES AEFHE Sg5He” ,
e w2 T 22

S85 Bobd edyd o=

iy
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Question Number : 44 Question Id : 4928631644 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

. bq +
Let @ #0, b # 0. ¢ be three real numbers and L(p.q) = A

ﬁ Vp.ge R,
a +

2 1 L3 . -
If L[— E) +L[ q) +L(2.2)=0. then the line ax+ by +¢ =0 always passes through

-_ [ =

the fixed point

a#0.b#0,c ©o Sords 385 Sopges S0 L[p.q)—w Vp.geR
va~ +b”
2. ¥ 2 g s o
siogcomro. L[: —) +L[— T) +1(2.2)=0 £ox8, ax+by+c=0 ©3 T OV
g3 B 5
S0 et ¢2a9)
Options :
L« (01)
5w (2:2)
(—L-1)
4.

Question Number : 45 Question Id : 4928631645 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The mcentre of the triangle formed by the straight line having 3 as X - intercept and 4 as
Y - intercept. together with the coordinate axes. 1s

X - ssgddfmodio 3, Y - ¢

B2huo Sng) o aﬂ'ﬁu@:}u

Options :



&
u
—_

L
®
—
p=
I~
il

4 (1-1)

Question Number : 46 Question Id : 4928631646 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The equation of the straight line in the normal form which is parallel to the lines
v+ 2y+3=0andx+ 2y + 8 =0 and dividing the distance between these two lines in the
ratio 1 : 2 mtemally 1s

]

r+ 2y + 3 =0500050 x+ 2y + 8 = 03pod SSrosdomr

0
Sror) 112 58S voddon JFB0W JE¥0pE vhvow Erdod” BdoBdo
=

Options :
; 10 5
xcosa+ysiner=——.a=Tan 2
L ® 45
. 14 oy
xcosa+ ysSma =——.0=x+Tan" 2
. 14 s
xcos@+ ysinr=——.a=Tan ™2
' 45
3 B
. 10 i
YCOSa+ vsier = .a=r+Tan 2
4 45

Question Number : 47 Question Id : 4928631647 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



A pair of straight lines 1s passing through the point (1. 1). One of the lines makes an angle
6 with the positive direction of X-axis and the other makes the same angle with the positive
direction of Y-axis. If the equation of the pair of straight lines 1s

x —(a+2)xy+1y" +a(x+y—1)=0.a =—2. then the value of 8 is

ug $6¢8ar ooy (1, 1) o3 Dok Moz Feod. DBS* w8d, XYugo $56¥6°
0 5y, BodSl J-ewfo 806¥S" b Ford) SFob. & DEFroinio D800
X —(a+2)xy+r7 +a(x+y-1)=0.a %2 swi@. 0BwE), Jeod

Options :

L. ..
~Sin™
=

. 8

I

&

4+ | 12
12

e o

3

lTﬂ]J_l[ 2 ]
58 2 a+2

Question Number : 48 Question Id : 4928631648 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
! ! e B 2 : !
If the pair of lines 6x~ +xy—1~ =0 and 3x° —axy—y~ =0. @ >0 have a common line.

thena=

6x  +xy—3y> =0 Hob¥o X —av—y =0.a>0 o3 SO Fogrofoomyes wE
ﬁé&é&ﬁqaﬁi £0n &od. Eijd) a=

Options :

b | —



Question Number : 49 Question Id : 4928631649 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If the chord L=vy—mx—1=0 of the circle S=x"+1"—1=0 touches the circle
S, =x"+ v~ —4x+1=0 then the possible points for which L = 0 is a chord of contact of
S=0are

] . S ’
S=x"+y —1=0 3 §go dw§), vy L=y-mx-1=0, Sgo

[r o

| _ o
Si=x J"." —4x+1=0a +5:£Idwiu¢.l S=0&ws), G =y L=0s3a08 288

DodhYen

V6.0)
i

Options :

lﬁ(

)
|+

w1

—
[
|+

L. (2.0)

(&)

Question Number : 50 Question Id : 4928631650 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

If v + ¢ =0is a tangent to the circle x™ + 3~ —6x—2y+1=0 at (a. 4) then

+1 —61—"’1+l 0 Syod8 (6.4) 38 y+e=028 :gmﬁg: esond, &5 Dy

Options :

.. % ac=360

(S



< qe=—J2

[l

w a+c=0

It

. % da=c

Question Number : 51 Question Id : 4928631651 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
i ; . 5 2 = s 2 2 2 ) .
Ifthe circles givenby S=x"+1" —14x+6y+33=0 and S'=x"+y"—a =0 (ae N)

have 4 common tangents. then the possible number of circles $'=0 is

: 2 2 -y w 1 — o [a]
S=x"+y —14x+6y+33=0 S08c¥» S'=x*+y'—a" =0(aeN) oF asi=d:

o
“.-:Fﬂu Jrenits mmhfa Efﬁéfgpﬂf 00 GolTas E.Jt:'&_i}é oy S'=0 :S;}fzje.: Romg
Options :
1. % 1
o -
T W D
infinite

o
4 % LhTeTite

Question Number : 52 Question Id : 4928631652 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The center of the circle pasuna through the pomt (1. 0) and cutting the circles
2497 —2x+4y+1=0 and x” + 3 +6x—2y+1=0 orthogonally is

(1. 0) BosoPfomdrsr, ¥+ —2x+4y+1=0 308050 X" +)° +6r—2y+1=0 &3

HEmeod voudddo TR HFo BwE), SoDw

Options :



(0.1)

o ®

» (0.0)

Question Number : 53 Question Id : 4928631653 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The equation of the tangeut at the pont (0. 3) on the circle which cuts the circles
2 | 5 2 "
4y =2x46y=0,x 4+ —4xr—2y+6=0and x* +3° —12x+2y+3=0

orthogonally is

¥ # . ] 3 2 2
- +,1"2 —2x+6y=0. x" +r~|'l —4x—-2y+6=0 200c0n x +y —12x+2y+3=0

&

al — - o — [ B, .
SHmod vouHddo T Sgop (0. 3) dodhd 5§ Py Boog), S

By
Options :
L ¥=3
B X— 0

Question Number : 54 Question Id : 4928631654 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0



If two tangents to the parabola y~ = 8xmeet the tangent at its vertex in M and N such that
MN = 4. then the locus of the poimnt of intersection of those two tangents 1s

.TJ'ZS.T SorHuchindts e Todo Z&Jﬁﬁqaw. T 8o $g o Iﬁg:ﬁ;ﬁaﬁa MN =4
ecigbiy M Sobon N o 3§ Seodyod, & Tod 9E0pe podd Doy SuE)
Doddon D0
Options :
A S 1
i =8(x+3)
2
2_ofev. M
. x Y =8(x=2)
2 =8(x+2)
o ¥ =8(x+2
. B i
4 B .‘I" = (j'_l_-]

Question Number : 55 Question Id : 4928631655 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Three normals are drawn from the point (¢. 0) to the curve y* =x. If one of the normals

15 X-axis, then the value of ¢ for which the other two normals are perpendicular to each
other 1s

Y =x 55798 (c. 0) Dot So0d Sord eDuondpess A, & vooudped wEL

X-zgo @ond, LA Tod vdeoedpen L'::ldixf‘:gdu @00 FafNs GodNong coens
Options :
1
1 4
1
2
o8 =

L
S
+= |
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Question Number : 56 Question Id : 4928631656 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If the normal drawn at one end of the latus rectum of the ellipse 57x” +a”y* =a°b* with
ecentricity ‘e’ passes through one end of the minor axis. then.

‘e’ a8 ol e .bz:rl—kﬂzj' =a'b’ e S BF 5D Tvowo D), w8 FS 5§ HDS
adjergs BE’LI el L\?J F?.I"-:Sgn."«.u Cdoiag} w8 BS homdrdiel ‘En'.‘?n‘jifu

Optioqs:

L% et+e’=2

o et —e? =1

- et e’ =1

Question Number : 57 Question Id : 4928631657 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

=

~— =1 makes intercepts on both the axes. The locus

"
[R5

a
of the middle point of the portion of the tangent between the coordinate axes is

7 7
X 3

=-=1 &g Sy fo of $908 eu}u‘.’gﬁa} Codh gsvn LodinoToas Bwaod.
ﬂ_ I

ErHE wibive gy OB & Bty Fhdn Bng), Sy Dol DodBgBo

Options :

:‘:—' -lu
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Question Number : 58 Question Id : 4928631658 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

If the eccentricity of a conic satisfies the equation 2x” +10x—13 = 0. then that conic is

o8 To8do Bwg), &8 old 2x° +10x—13=0 3 SyRBHHeB edyd v Fosdo
Options :
a circle
L % @l 8B
aparabola
. g 28 Ddodwoio
an ellipse
28 &8 5do
30 =TS
a hyperbola
4 wB EEJTIVC0

Question Number : 59 Question Id : 4928631659 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Assertion (A): If(—1.3.2)and (5. 3. 2) are respectively the orthocentre and circumcentre
of a tmangle. then (3. 3. 2) 1s ifs centroid.

Reason (R):  Centroid of the triangle divides the line segment joining the orthocentre
and the circumcentre i the ratio 1 : 2

&S0 (A): (1. 3.2) Svcn (5.

)

.2) SB35 |Bedac AwE), woadoEo 00N
S88oo ®ond, (3. 3. 2) o Somaddn.

5820 (R): LouBoFR) Sbokn SG8oEw) B Byrpodinds, & (@b So|Terio

12 38S” podidod.

Which one of the following is true?
& Boh TS 26 H8gHn?
Options :
(A) and (R) are true and (R) 1s the correct explanation to (A)
o (A) &6ciw (R) SLTsES Sobodn (A) 8 (R) $0G0S LS50

(A) and (R) are true but (R) is not the correct explanation to (A)
z (A) Ho8cdn (R) :aé?g;')}d v (A)S (R) E’:E}@Eﬁ Qe B8

(A) 1s true. (R) 1s false
- (A) S, (R) sddgdn

(A)1s false. (R) 1s true

L x () sddgin, (R) sdg50

Question Number : 60 Question Id : 4928631660 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

The lines whose direction cosines are given by the relations al+buni+cn = 0 and mn+nl+im =0
are

al +bm+ecn=0 5803 mn+nl+ =0 =3 dowoddned fﬁf}ﬁﬂ:f&ﬁ 6§ Fased fo

Bpew



Options :

pEIpEﬂdiClllﬂfifl—l‘i-f—l:ﬂ

a b e
l+l-|—£:[l ©aLD LUOT GoLIToD
a b ¢

1. %

perpendicular if /g + /b ++/c =0

Na ++/b ++Jc =0 s0x8 eomom &otron

2N
3 X ]
parallel if —+—+—=0
a b ¢
1 1 1 e )
—+—+—=0 wond Siroddor wotron
a b e
2
parallelif a+b+c=0
a+b+ec=0 mond Jdruddom Golron
4 ®

Question Number : 61 Question Id : 4928631661 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If the plane passing through the points (1. 2, 3). (2. 3. 1) and (3, 1. 2) 15 'n.'r+b_1~+c::l

then @+ 2b+3c=

(1.2.3). (2.3. 1) 0850 (3. 1. 2) Bodfe Kom ¥k oo ax+by+ez=1 wond,
Srly a+2b+3c=

Options :

1.WD

2.@"1

3.%6

4 & 18



Question Number : 62 Question Id : 4928631662 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

—lm— =
—2x =20 sinx

d—v . log(l+x’)

lim
X — — o0

¥

Options :

LWI

ad | —

!_,|..‘||_|'_~..

o 0

Question Number : 63 Question Id : 4928631663 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

x—2
+a . x<2
h—ﬂ
If f(x)=a+b . w=2
¥—2
Ll oy
h—ﬂ

1s continuous atx=2.thenag + b=

T_"ﬁ
= -
+a . x<2
h—ﬁ
=238 f(x)=qa+b 5 =2
x—2
+b . x>2
r—2
o whaed, edvd a + b=
et )

Options :



LiJ
<
=

Question Number : 64 Question Id : 4928631664 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

x> log(cosx) 5
;XA
If f(0)={ log(l+x") then f is
0 g x=0
P log(cosx)
a5 ¥l
_f{-\‘]’:" lﬂg(l—F\ ) @'»JJ-:'&.. ”&Jtﬁ] _f
0 , x=0

Options :

disconfinuous at zero

DOR) WG WY
1 = P o e
continuous but not differentiable at zero
_ Rod) S8 ed0dn, e edfaloihin 5
2 = =, s 't,..l =
differentiable at zero
Bo%) B8 eBtodosBn
3 o =t
not continuons and not differentiable at zero
— S0y S8 Dindydon Hobodn edfeddhdin s

Question Number : 65 Question Id : 4928631665 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Match the 1tems given in List-A with those of the items of List-B

List-A

(@) If y=|x|+|v—2| thenatx=2. d—lz

(b) Iff[x) — |C052:r| .then f‘[%Jr) =

(¢) If f(x)=sinz|x] where-[-] denotes the greatest

integer function. then f'(1-)=

- 1
(d) If f(x)=log|x—1].x #1 then f'[;)=

Trier-A S0 woddnod ode-B &' soddnad 2d dchod.

ardar-A
_ A
(ﬂ) ) :‘T“i‘"\—z -’Ema' y=2 :Jf.l e
3 l'fl'
®) f(x)=|cos2x| wows, f‘[;Jr]:

(c) [o] HB% Trood Biokho wonshyk

f(x)=sinz[x] sand, f'(1-)=

-

—

- 1
(d) f[x]:lng‘x—l|..'ril 2ond, f‘[—]Z

The correct answer is
28 ©owd 22T
Options :

(@ @b (© (@
Lw (V) (i) @) (i)

(1)

(11)

(i11)

(iv)

(v)

(1v)

List-B

-2

[

does not exist

12| =

rHa-B

-2



(@) () () (d)
« (iv) (1) (1) (i)

&

(@ (b)) () (d)
e v) @ (1) (1)

14

@ @® (@ (@
w () (i) Gv) ()

Question Number : 66 Question Id : 4928631666 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
9

(sin'x)

If = . then (l—-‘!’2 ] Ya=%Yy=

=

i

(Sj.ﬂ_l."f)_ - ; >
p=—— 7 0008, VIV (1—.1‘ )12.—1‘1-‘1:
: 2 Ee \ gl ‘

Options :

1. % -

-2

Question Number : 67 Question Id : 4928631667 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

It the relative errors in the base radius and the height of a cone are same and equal to 0.02.
then the percentage error i the volume of that cone 1s

28 ok SBws) wsrrd TyTrddn ol ISR Fuf GGl Sodr 0.02 5
£ —_ —_—
PEFrSoNE B o Bw), WHNlEreed ) FaTdo

Options :
1 *® 2
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3¢ 6

4 % 8

Question Number : 68 Question Id : 4928631668 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

The normal at a point 6 to the curve x =a(l+cos@). v = asin @ always passes through the

fixed point

x=all+cos8).y=asing S8 6@ Do 5¢ eHeoady JEHPEr Fao JHoSD

Options :

1 ® (U.G'}

¢ (2a.0)

Question Number : 69 Question Id : 4928631669 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct 1 Wrong : 0

Let £ (x)be continuous on [0. 6] and differentiable on (0. 6), Let f(0)=12and f(6)=—4.

' -
Ifglx)= il 1} . then for some Lagrange’s constant c< (0.6).g'(¢) =
¥+
f[*t} Paocso [0. 6] 3 e2d&e wocsn (0.6) 2 edtudoihe edserro. f(ﬂ}:
" N B s e i
f(6)=—4 oo, g(x)= [ God. IS .8 Brod horobo €€ (0.6) 8, g'(c)=
X+ ®
Options :
N
3

1 "



32
sa 21

44
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Question Number : 70 Question Id : 4928631670 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If (. 8) and (y.5) where o < ¥, are the turning points of f(x)=2x" —15x* +36x—8
then o — y—p+d=

(a,f) Sobosn '(}f.J] w <y edglin fx)=2x —15x7 +36x—8 G008, Sowo)
Hodadew vowd, a—y—Lf+d=

Options :

1_%0

I
%
|

Question Number : 71 Question Id : 4928631671 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The height of a cylinder of the greatest volume that can be mscribed m a sphere of
radius 3 1s

.

0" vodiPEo Tad oD JWiBIrwo Ho Jrdo By, I8

&)
@
ol
BCx,
3
I'JJ
q
G
E-!
B,

Options :



)
.q;
I

Question Number : 72 Question Id : 4928631672 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

J- dy e

(EI-E-E'_'T)
Options :
|
= T
2(e™ +1)
] = '
1
— ==

[+3

Question Number : 73 Question Id : 4928631673 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct: 1 Wrong: 0

-
/é dx

o 1+(tan _T)szs

Options :
1 ..?f



(]
.

5 % 4
T
95
E{b\a_
T
4.&"4

Question Number : 74 Question Id : 4928631674 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

If |-
‘[[_.1“1 +1)(x—1)

X

dx = Alog ‘:r-" 4 l‘ 4+ BTan'x+Clog

j( - 1:.;{ 0 dx = Alog‘.*r* +1‘+ BTan 'x+ C'lng‘x—l‘%ha’. wond, 4 +B+C
v +1)(x—
Options :
1
L % 4
|
s D
39 *
5
4u 4

Question Number : 75 Question Id : 4928631675 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct: 1 Wrong: 0

.T—l\+f?. thend + B+ C=



l‘-.-l::!].

dx =

I- cos’ x
h S ¥ +COS X

Options :

-1

L 8 2

r—1
4

14
¥
o

Question Number : 76 Question Id : 4928631676 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct: 1 Wrong: 0

3
! 2]
j(2+.\")ﬂ’x:
0
Options :
1 P 4+2%+....+(3n)
lim —| 2n+ -
f1— oo } -
1. B

S ) P g
I, IP+2+... +06n
hm —| 3n+ :

e mne o n

a1 g | 7]
S | D +27+....+9n
lim —| 61+ .

, M=ol n-
S




o, IT+27+ 30
lim —| 3n+ -
n—s == J] n-

Question Number : 77 Question Id : 4928631677 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

. = [ 7 = . .
The area enclosed (in square units) by the curve y =x" —x>. the X-axis and the vertical

lines passing through the two minimum points of the curve is

- 2 & - . * o # 1 F By w w B oo
Pi= REST TS So, Lego Sobdoin & JFo @BwE), Do EALDobPe S8 No §8=2
ooyl B8Sbodwdd Iroge (Hictirals?)

Options :

482

Question Number : 78 Question Id : 4928631678 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

The differential equation corresponding to the family of circles having centres on Y-axis
and passing through the origin is

X-ofon Soibood 00, drodohy Momddh HEdine $lwowrds Sowofolls
wt B ¢
solon Diimdw

Options :



v
_‘,_.’ —!—.Tl i ABNE

' dx

1 e
;. 3 ﬂ"l'
yr=x"+——=0
5 ® dx
- 3 l’f‘l'
7+ 4+ 2 —=0
= l’}"T
2 2 dv
¥y =x"=2xy—=10
4 o ﬂ?.T

Question Number : 79 Question Id : 4928631679 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

3

" - ' - g 2 "
The general solution of the differential equation [.r + .1_1']_1" =y 18

7

3 _:" y— W ar il a —_— g Bl
(:r +.1_T)j =)V 038508 J08000 ) Fgrde SO

Options :

=
e i — M
2:v <
s
5 % € ¥ =CXY
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At any point on a curve. the slope of the tangent is equal to the sum of abscissa and the
product of ordinate and abscissa of that point. If the curve passes through (0. 1), then the
equation of the curve 1s
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Assertion (A) :

Reason (R)

S’.}%’ﬂééﬁw (A):

g0 (R):

When we bounce a ball on the ground. it comes to rest after a few bounces.
losing all 1ts energy. This is an example of violation of conservation of
energy.

Energy can change from one form to another but the total energy is always
conserved.
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Which of the following is true?
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Both (A) and (R) are true, but (R) is not the correct explanation of (A)
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A gas satisfies the relation py 7 K where P 1s pressure. V 1s volume and K is constant.
The dimensions of constant K are
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A carmoves in positive F-direction with velocity *v° proportional to distance travelled y as

V(v) e< _*_rﬂ . Where f is a positive constant. The car covers a distance L with average

velocity < v > proportional to L as < v > e 175 . The constant [ 1s given as
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Consider a particle moving along the positive direction of X-axis. The velocity of the particle

is given by v= ox (aisa positive constant). At time 7 = 0. if the particle 1s located at
x = 0. the time dependence of the velocity and the acceleration of the particle are
respectively.
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The magnitude of acceleration and velocity of a particle moving in a plane. whose position

Vector 7 = 3t%f + 21 j + k at 1= 2 sec. are. respectively
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Two objects are located at height 10 m above the ground. At some point of time, the objects
are thrown with initial velocity 22 m/satan angle 45° and 135° with the positive X-axis

respectively. Assuming g =10 my/s”. the velocity vectors will be perpendicular to each
other at time equal to
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String 4B of unstretched length L 1s stretched by applying a force F at the mid-pomt € such
that the segments AC and BC make an angle * 6 "with 45 as shown in the figure. The string may
be considered as an elastic element with a force to elongation ratio K. The force F'is given by
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A block of mass 5 kg is kept against an accelerating wedge with a wedge angle of 45° to the
horizontal. The co-efficient of friction between the block and the wedge 1s u=0.4. What1s
the minimum absolute value of the acceleration of the wedge to keep the block steady.
Assume g = 10 m/s’
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An object moves along the circle with normal acceleration proportional to . where 7 is
the timie and ¢ 1s a positive constant. The power developed by all the forces acting on the
object will have time dependence proportional to
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A ball of mass 1 kg moving along X-direction collides elastically with a stationary ball of
mass “m’. The first ball (mass = 1 kg) recoils at right angle to its original direction of
motion. If the second ball starts moving at an angle 30° with the X-axis, the value of “m’
must be
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A machine gun can fire 200 bullets/min. If 35 g bullets are fired at a speed of 750 m/s. the
average force exerted by the gun on the bullets s,
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A solid sphere of radius R makes a perfect rolling down on a plane which is inclined to the
horizontal axis at an angle 6. If the radius of gyration is *&". then its acceleration is
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A particle of mass “m’ 1s aftached to four springs with spring constant k. &, 2k and 2k as
shown 1 the figure. Four springs are attached to the four cormers of a square and a particle
1s placed at the center. If the particle 1s pushed shightly towards any side of the square and
released. the period of oscillation will be
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The ratio of the height above the surface of earth to the depth below the surface of earth.
for gravitational accelerations to be the same (assuming small heights). is
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A steel rod has radius 50 mm and length 2 m. It 1s stretched along 1ts length with a force of
400 kN. This causes an elongation of 0.5 mm. Find the (approximate) Young's modulus of
steel from this information.
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X-Y plane passing through the origin. The density of the liquid varies with Z-axis as
] [t P, and P, are the pressures at the bottom surface and top surface
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A one mole of ideal gas goes through a process in which pressure P varies with volume 7as

2
Fi

"o

P=3=-g . where 7 1s a constant. The maximum attainable temperature by the ideal

gas during this process is
(All quantities are in S7units and R 1s gas constant)
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The internal energy of the air. in a room of volume V. at temperature 7 and with outside
pressure P increasing linearly with time. varies as
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The efficiency of carnot engine 1s 1 when 1its hot and cold reservoirs are maintained at
temperature 7; and 7>, respectively. To increase the efficiency to 1.5 1. the increase in
temperature (AT) of the hot reservoir by keeping the cold one constant at 75 1s
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An air bubble rises from the bottom of a water tank of height 5 m. If the initial volmne of

the bubble is 3 mm?®., What will be its volume as it reaches the swface. Assume that its
temperature does not change.

[g=9.8 m/s*. 1 atm = 10° Pa . density of water = 1 gm/cc]
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Two harmonic travelling waves are described by the equations v, = asin(kx —@rf) and

v, = asin(—kx + @+ ¢) . The amplitude of the superposed wave is
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Where should an object be placed on the axis of a convex lens of focal length 8 cm so as to
achieve magnification of —4 ? (Distances are measured from optic centre of the lens)
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A converging mirror is placed on the right hand side of a converging lens as shown in the
figure. The focal length of the mirror and the lens are 20 cm and 15 cm respectively. The
separation between the lens and the mirror 15 40 cm and their principal axes coincide.
A point source 1s placed on the principal axis at a distance “d" to the left of the lens. If the
final beam comes out paraliel to the principal axis, then the value of *d” 1s :
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Interference fringes are obtained n a Young double shit experiment using beam of light
consisting two wavelengths 500 nm and 600 nm. Bright fiinges due to both wavelengths
coincide at 2,5 mum from the central maxinmmum, It the separation between the slifs 1s 3 mum.
then the distance between the screen and plane of the slits 1s
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A point charge of 50 uC i1s placed in the A} plane at a location with radius vector
Ty = 2i +3jm. The electric field strength and its magnitude at a point with radius vector

"=8/—5] mis (,=8.85x107% C? /N-m?)

XY dooes® Jg‘”ﬂ S8 =2 +3] LIS JHrdod DodLY 58 S0uC © fod
SITRNOTD. TEIY SBF F =81 —5] oL’ &) Dot & DogEis 8158 Hodremo

J605 (,=8.85x10"2C2 /N-m?)

Options :

o 4.5 kV/m

= "‘1':-"' RVH]J

13

. % 045 kV/m



., % 450 KV/m

Question Number : 106 Question Id : 4928631706 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The work done to assemble the three charges mn a configuration as shown m the figure
below is
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Consider the following two circuits
[A]: 20 bulbs are connected in series to a power supply line

[B]: 20 bulbs 1dentical to [A] are connected in a parallel circuit to an identical power
supply line
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A tapered bar of length L and end diameters D, and D, 1s made of a material of electrical
resistivity p. The electrical resistance of the bar is
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Twao circular loops L, and L, of wire carrying equal and opposite currents are placed parallel
to each other with a common axis. The radius of loop L, 1s R; and that of I, 1s R,. The

distance between the centres of the loops is /3 R, . The magnetic ficld at the centre of L,
shall be zero if
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Anon-conducting thin disc of radius R rotates about its axis with an angular velocity 1. The

surface charge density on the disc varies with the distance » from the center as

B
. r
o(r)=0,| 1+ [E) . where g, and 3 are constants. If the magnetic mduction at the center
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A bar magnet of magnetic moment M is placed at a distance D with its axis along positive
X-axis. Likewise, second bar magnet of magnetic moment MM 1s placed at a distance 2D on
postitve Y-axis and perpendicular to it as shown in the figure. The magnitude of magnetic

field at the origin is ‘E‘ = a[% %} . The value of o must be

(Assume D>>/ where / is the length of magnets)

M woboin,08 grdsdn o wf Somdbiroed) 68 X=efo Jowd D drdos” o
egdn X848 Sdroddon Goddly wowd. 8Ider M oohanod grdilin o
So& domahanoord) 2D drfod” §5 Y-ugaf 85 og) vonom HoS Srhd
sy M

e DJ estodoso

Ao Sowdd. wohdmod B B8orwo Swrwdothd $¢ ‘E‘:H[

Braeng o dens
(D=>] 08085050, Som Slovvinp IS T s o) [)

e

P

v

Options :



o5 | \©

Question Number : 112 Question Id : 4928631712 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A wire loop enclosing a semi-circle of radius *R” 1s located on the boundary of a uniform
magnetic field of induction B. At time 7= 0, the loop is set into rotation with velocity “ @’

about its axis ‘0. coinciding with a line of vector B on the boundary as shown in the figure.
The emf induced in the loop 1s

2.8 8 Swobo, Rargrdoie edbas o) 500 JE08 eohd,od 3 (Wim B wodv

4

&

Lr
S¢ woTrd. JOdiE) 1= 0;’@ o0 2o 07, oo f}{é B 3&6%&° Qéé&ﬁfﬁoﬁ}ﬁ-“:

v

o

‘@ Tifod” SLos® trbd o |Ehomo Toboord. Jechod” ROEHS IdgTnes

B0 e

Options :

BR®
—(t)

L v 2

s BRw

pD

o BR*w

5

BR~
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Correct: 1 Wrong: 0

In the circuat given below. the capacitor C is charged by closing the switch S, and opening
the switch 5,. After charging. the switch S; 1s opened and S, 1s closed. then the maximum
current in the circuit

[ a = d

Bod S Sechod’, 5otnd CQ §; Db Srh Fo0oin S, dobod BoD ed6yrodo

850 Syatady SorldFrd. whvd Swciod’

4l
o
&
[
£l
€l

!
Gx
C
9
=
cik
L
&
H§
TA
(24
o
E:;
8&

c
|
}!
Na,
e LA
L
Options :
v
1 = C
g
- 4 L
VL
3 ® 2\ C
2aV, |—
4. &
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A 100 W electric bulb produces electromagnetic radiation with electric field amplitude of

2V ; o ; ; :
= at a distance of 10 m. Assuming it as a point source, estimate the efficiency of the

bulb.

T
10 m&rdods” 100 We 28056 e ;—] DS BIS S0dS HOMS Ha Jdgdoidm.od

8GR 8 T00. wond & Dot adfom TIod wuy Gy, S8 8§ 08dw

Options :

w 49%

7 500
> 8 _.5 ‘0

. » 6.6%

. x 19.7%

Question Number : 115 Question Id : 4928631715 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct: 1 Wrong: 0
Atan mcident radiation frequency ofv, . which is greater than the threshold frequency. the
stopping potential for a certain metal is 7;. At frequency 2v, the stopping potential is 37; .

If the stopping potential at frequency 4v, 1s V. then n is

DB D8 TIeDRgo v, wlodd TFHidgo $08 J8y S0ndP wl o DwE) TS
§Gsn 1. vy eddgin 3¢ A6GE #s0 deod . 4y, DEdngin B¢ I8GE

9

<

T8 80 deood Nl @B n deod

Options :

1 & 2
o W 3
= W 6

49 7



Question Number : 116 Question Id : 4928631716 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct : 1 Wrong: 0
The de Broglie wavelength of an electron of kinetic energy 9eVis ( take /i = 4x10™"°eV sec.

c =3x10" cm/sec and the mass m, of electron as mgc2= 0.5 MeV)

9eV ria4E Ko JogsS dwns, & (&*h Ssondygsen (h=4x10""eV.sec, €=3x10" cn/sec

0050 JLFS B550°% Me, Mec= 0.5 MeV i 508 8050)

Options :

L w47 10% em

< 10~ ecm

[ta
b4
TJJ

% 4 =107 cm

4 % 3x107 cm
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=
2

An active nucleus decays to one-third [ ] in 20 Hrs. The fraction of origimal activity

remaining after 80 His is

] . - : Sl 1] &
a8 Boirdo dorgfodon 20 fobod” wild” Jurdderisn [: ssfodod. 80 fobe
h 2
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Question Number : 118 Question Id : 4928631718 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Consider an amplifier circuit wherein a transistor 1s used i common emitter mode, The
change in collector current and base current respectively are 4 mA and 20 pA when a signal
of 40 mV 1s added to the base-emitter voltage. If the load resistance is 10 kQ. then power
gain in the circuit 15

A o
Ol
egrd-aad 8 40 ]JJ‘V RUBEY) wETUY WEGS D5 PBoirdn D0 el d8ge

BIrFdve Srdy SWEm 4mA Hocio 20 HA. 6 TG 10 kKQ wond Sodhod’

Options :

. 1x10°

s 2x10°

ha

= B 8105

x 1x10°

i
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The output “F of the logic circuit given below 1s

%

E]
&
™
g3
&
&n

:5& Se0500 cT:s:-::éwu o

£ o—

X

Y
-

~oe

Options :

L@ X+YZ

» F+Z)-X

w3

2 (Y+Z)+ X

La]

i X4TZ

Question Number : 120 Question Id : 4928631720 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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A carrier wave of peak voltage 20 V 1s used to transmit a message signal. For getting a
modulation index of 60%. the peak voltage of the modulating signal 1s

Tor H0sESwEs (Bardo [oly Porir Sdondn Iwd o 20 V. SrdogBas Sods

b ]

oy
60% 53T 08 BB o8 do G0, Y FE50
Options :

, % 6V

u 8V

2

I 3

LiJ
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Question Number : 121 Question Id : 4928631721 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

The energy of an electron in the 3rd orbit of H-atom (in J) 1s approximately.

H-585re00) Bog), 35 8535 o JﬁLl-_E #8 (J &™) Sodrdon
Options :

, & —2.18 x 10718

o o — 242 % 10717

5w —1.21 % 109

—3.63 « 107

Question Number : 122 Question Id : 4928631722 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The wavelength (in m) of a particle of mass 11.043 > 10-2% kg moving with a velocity of
6.0 #107" ms™ is

6.0 <107 ms™ 3K08” I0oB 11.043 x 1020 kg (53073 o $mo S80ihBEgo m od
Options :

1.0 = 10

1 ®

L » 6.0 1071



s o 10% 106

4 % 6.0 x 1016

Question Number : 123 Question Id : 4928631723 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

Covalent bond length of chlorine molecule is 1.98 A. Covalent radius (in A) of chlorine
atom 1s

508 @y 55808 208BY sin 1.98 A 568 S5m0l Fo8ell agardsn (A os)

Options :

, = 1.98

. 0.99
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The covalency of Al in [A.ICI(HEO} T:_ 1S

5

[AICI(H,0), T & Al sscaradons

Options :

1.%3
2. % 5
3.%1
4 ¢ 6
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The correct order of bond angles of the given compounds 1%

2% SRETest sodEime BES EHsn J6?
Options :

1 B

T 4 SbH3 = -'—‘S.SHg' < PH3 < NH_:I

w2

« NH, < AsH, < SbH, < PH,

T

PH, < SbH; < AsH, < NH;

4 %

Question Number : 126 Question Id : 4928631726 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct: 1 Wrong: 0
The molecular orbital theory supports paramagnetic behaviour of

weo) uHHrd ?»}Clj_‘;oﬁfs.‘a& Bo ST wobhdm.ed oy wadfood?
Options :

« DBCs

te -

1
I

L
I

Question Number : 127 Question Id : 4928631727 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which of the following represents van der Waal's equation for  moles of the gas?

(3 ] i = -3 = £ my e M P t‘:_E".. '
Bob T8S” & nIrdew TEHR Toddad S8 Sn?



[P+ TJU-—E;-)znﬂr
1 #® L

.« P(v=b)=nRT

v

[P+Li] —HRT
) _

1]

2 3
PI"+”;T —”ﬁf — Pub=nRT

4. ¢

Question Number : 128 Question Id : 4928631728 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct: 1 Wrong: 0
The knetic energy m J of 1 mole of N, at 27°C 15
(R=28.314 T mol”! K™

27°C 38 136 No& figzds J o’

(R=8.314 Jmol"! K™
Options :

| w 2.494

& 18.706

2

Question Number : 129 Question Id : 4928631729 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



In the titration of I, (aq) by . S,0; (aq) using the starch indicator. the end point is indicated

TG SrDEDIBErAGD, §,0; (2e) & Llze)dh wofberdssn Dokodydh, wodgdrismn

Options :
Colourless to blue

L% o8B Moot IO ook

Blue to colourless

o Wddo Dol Joihd8 was

Piik to colourless

5 %08 doit 2008 SolhBy o8

Blue to pink

4% W OGO Sood Dol Jomde

Question Number : 130 Question Id : 4928631730 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

When 10 g of 90% pure limestone 1s heated. the approximate volume (in L) of CO,
liberated at STP 15

10 go 90% 86 Ko BHYSH 36T28HEH dhdoons CO,nSE05 00 (L o)
STP $& fosorr
Options :

, # 44

& 2.0

!



Question Number : 131 Question Id : 4928631731 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

At 298 K. the equilibrium constant of the process 1.50 Ag) = Os(g) 1537 10—, Standard

free energy change (in kJ mol) of the process is approximately

(R=28.314 I mol'K: log 3 = 0.47)

298 K 58, 08 BiEass
150, = Oy,

PO P sLIe b gk

(R=8.314 Tmol*K: lo

frg
I'J,J
Il
o
I
=

Options :

s 612

P

247

L

, 163

oh¥§ Soeday (kT mol o)

Question Number : 132 Question Id : 4928631732 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

For a reaction 2 Ag) = 2B, + CH.-K =3.75x107%at 1069 K. The approximate

value of K, for this reaction at the same temperature is
(R=0.082 L bar mol"'K1)

1069 K 38, .8 $dg

)

2A,) = 2B,

%, K, =3.75x107° o8 &uis 5§ & 365 K, Jeos Sodrdm

(R=10.082 L bar mol-'K-1)
Options :
= 24 x107*
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The degree of dissociation of 0.1 N CH;COOH is (given K, = 1 * 10°) approximately

0.1 N CH;COOH @oog), %08 95§ Sodedom (K,=1 > 107)

Options :

L% 1 %1079
e 1x107

107

)
&
i

oo 1% 107
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Match the reactants in List-I with the products in List-1I

rde-l & ol fdlralrod de-ll & L8 Sdrasgod adddhin

List-1 List-1T

erdar-1 erdor-Il
(a) H,O+H,S (1) (H;O™.HS)
(b) H,O0+N* (i) (NH,.OH")
(¢) H,0+S5iCl, (i1i) (OH.H,S")
(d) H,O+F, (iv) (Si0,.HCI)

(v) (SiOf.ClLy)
(vi) (0,.F)
(vit) (HE.OH")
(viii) (OH . HNj;)

The correct answer 15
ol oS 2T
Options :
(a (M () (@
L= (1) (m) () (V)

(a) (b) (c) (&)
L i) () ® (v

=

(a by (© (@
- ow () (vim)  (v)  (vib)

(@ (b (¢ (@
(1) @ @) ()

4 &
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When sodium (Na) metal 1s dissolved i liquid ammonta (NH;). it imparts a blue color to
the solution. This blue coloration 1s due to

Faoio (Na) 5%55Q) (655 e3mRose (NH,)S® 600089, (5t d880rH d8ytheos.
w8 Sorbd 57 8mdn
Options :
Liquid NH,
4 &5 NH;

o & [NE(NH3 -].T ]+

. NaNH,

[e(Nm,) ]

4 &

Question Number : 136 Question Id : 4928631736 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct: 1 Wrong: 0

Identify the correct statements from the following
a) Inorthoboric acid. boron is in planar geometry
b) InBCl;. NH;. boron has tetrahedral geometry

¢) Aqueous solution of borax 1s acidic

=t
®
#9
g
o
am
5
c
G
&
9
en

Qdde BEBI SO/ woluod
b) BCL.NH; &, &os Srodd u8ye 5Oh sotuod
C) Fof zo@dndn sy HomR) §O/ wotool

Options :
v b

5 # D.C

=



w a.C

3
4 = ab.c
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Si reacts with CH;Cl at 573 K 1n the presence of Cu powder to form methyl substituted
chlorosilanes. Among the given methyl substituted chlorosilanes. whose yield 1s minimum?

&
& PO PERLS §OOSuS edgey Hibwd BIF $oh?

Options :

% (CEESICY

« (CH;),SiCl,

[

. (CHy)sSiCl

i)

 (CHy)Si
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When vegetation is burnt in the absence of oxygen. which of the following will be formed?
& f L

agihen SHond Hbhdieds” NS Nowod DorTrel NOGKNG OB JthSaishoh?
2J ¥ Ej"“- 5]

i&ﬁ

Options :

| o O,
R H:C.:CH__";
,« H-CsC-H

, » HsC—CH;
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TUPAC name for the following compound 15

§od d39¥So BwE), TUPAC oo

lf 1 ? H,—CH,
CH;,—CH—CH,— (H—-CHO

Options :
2 - chloro - 4 - ethylpentanal

2-808 -4 -&pduobad

1. %~
2 - ethyl - 4 - chloropentanal
g 2-588 -4-5FuobTS
4 - chloro - 2 - ethylpentanal
—1' -3 g'ﬁ" - '_ T.F"aﬂ -:Juw-;u '?.‘-l_
2 s
2 - chlorohexane - 4 - al
2-§0 08w -4-ud
4 % vt :
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What are the products formed in the reaction given below?

Fob :,“5656.'.; SOy eEyTHe DD?

Ph—-CH,-CH=CH-CH,—2 % 39

2) Zn+H-0

Options :
Acetic acid and 2 - phenyl acetic acid

Sl o Hobadw - 2 - ;3 JiS B0



2 - Phenyl ethanal and ethanal

o 2 9I0 AT D00in adTo

=

- Phenyl ethanol and ethanol
2 - P36 2EITE Hoosw 2ETE

3 BT

1 - Phenyl butane - 2. 3 - diol

1-%3 202835 - 2.3-856
-u-.- ;_"I s

Question Number : 141 Question Id : 4928631741 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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The major product obtained in the reaction of 1sobutyl benzene with acetic anhydride m the
presence of anhydrous AlCI; 1s

A3

208 S TFodad JnEE Jﬁﬂ‘@&r SRl AICL; S&%080es® S8y adodm :.:Jd;jd”'.o
S &y9)H00
Options :

p - isobutyl acetophenone

B - 2288 VLTRSS
acetophenone
SRETHIT R

o #

m - isobutyl acetophenone

i s 5 yRgsin, o g
% m - DE&'E-J:J&QE! R R PRy

0 - 1sobutyl acetophenone

e 0 - ::'%‘:w&@*ﬁ RO TS Jo P Y|
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A compound is formed by elements of X. Y and Z. Atoms of Z (anions) make fcc lattice.

1
Atoms of X (cations) occupy all the octahedral voids. Atoms of Y (cations) occupy ;1‘(1 of

the tetrahedral voids. The formula of the compound 1s
a8 gl XY Sbcln Z Sresed Ddﬁ&u&. L S8S5rmoden (edoirsws) fcc
Fosd) 6T XSdrmdHen (BLairiw) o) uxirdd dogro wEdodzon.
: 1
wOdrmnder (Bgirawn) T3 Jos GErdd oo giEluom . Lmﬁg’;ﬁw
2

Ez*a:afrdaé@

Options :

Lo BT

X,YZ

3 5

fa

g XE

It

XY,Z
W L o
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Correct : 1 Wrong: 0
A litre of sea water (which weighs 1030 g) contains 6 » 10~ g of dissolved oxygen. The
concentration of dissolved oxygen in ppm 1s

28 QL BBNEH AW (0 rdo 1030 g)s’, 6 * 107 go S8AS whud &$HB. LBAS

sz TES ppm o’

Options :
1 & 5 8

o
%
o
—

Ly



Question Number : 144 Question Id : 4928631744 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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At300 K., a one litre solution of sucrose (molecular weight : 342) was prepared by dissolving
40 g of sucrose. What 1s the approximate osmotic pressure (in kPa) of solution at the same
temiperature?

(R=28.314 « 10% cm® Pa K-! mol?)

300K 56, o8 D08 SmE'E (eevgrdo 342) @dbeor) 40 g 8rE 8 88h 0 SoirdhIrd.
OB GPNE S (Th) BTddte LEsin (kPa os?) Sdrdm
(R=28.314 » 10°% cm® Pa K1 mol )

Options :

. 2707

500

o
B

292000

. % 600
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The EMF of a galvanic cell consisting of two hydrogen electrodes 1s 0.17 V. If the solution
of one of the electrodes has [H']=10— M. the pH at the other electrode is?

i

poil
o
.

Tods TFes JoEhw do o8 mogds Howy EMF deod 0.17 V. a8
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If the rate constants of a reaction at 500 K and 700 K are 0.002 s~! and 0.06 s~ respectively.
the value of K™ activation energy is (R =8.314 Jmol™ K. log 3 =0.477)

500 K. 700 K $& a8 <85 Bew QurosTen BE 0.002 s So8cs0 0.06 s eod
%8 Jend (R=8314 JTmol! K1, log 3=0477)

il

(2

o0
Options :

. v 49.49 kJ mol
98.98 kJ mol!
24.75 kJ mol™!

2.37 kJ mol™!
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The following graph 1s obtained for physisorption of a gas as a function of pressure at

different temperatures.

JVG P Y, el Todw) Fe8 ehHT IR0, TR VS o, MAoVIYE ol

P—
The correct order of temperatures 1s

¥

SY B0 HOPS ESoB0

Options :



I3<T,<T;
2 TE{TE‘{' 1_1

g Ta<Tj<T3

L]

g 15T3=T
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Identify the correct set of sulphide ores from the following

II-l" pa

god T8S Eﬁ@g- HWEDATY D8 B80T
e

Options :
Fool’s gold. Calamine. Kaolinite

_Jr_ \.“' i

wg)t‘.) T ET

[
Q
-E.f:"]
&
il
&
5
'

Copper glance. Siderite. Malachite

§"00 Mw), VEBE, Jrosl

3 ® =
Bauxite. Magnetite. Zincite
T 5 S Hlin-f 2088

4 ® <= &
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Identify the reactions in which N, 1s liberated
o Wiges' LS N, dddoid” fgotidn

(@) (NH,)»SO,+NaOH —
(b) NH, + Clz'_}
(€XCess)
NH, + Cl, —

( 259,5)
(¢) (WNH,),Cr,0,—2-

(d NH,NO,—2-

NH,Cl ..y + NaNO,( .., —
Options :
, & ab.c
> # C.d.e
T Y
4w ac.d
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What are X and Y. respectively in the following reactions?
Bod Seged” St X Hoasn Y e J?

Au-+aquaregzia — AuCl; +H,0+X
(alleptale

Pt+aquaregia — PtCl5 +H,0+Y
\BaT7220

Options :

. NO.NO
. NJO.N,O

. » NO.NO

NO.NO,
% 2
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Which of the following sets correctly represent the increasing paramagnetic property of

the 10n?
§ol Ravdod” edrow LU vobdned I
Options :
i SRR e e >
w, Cu <V <Cr <Mn
T 1= LI+ 2
¢ Cu <Cr <V <Mn

3 ® Mn* <V <Cr <Cu*"

M= <Ca- <Cr < V*
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Which of the following molecules / 10ons can exhibit 1somerism?
A) Tetrahedral  NiCl, Bry

B) Squareplanar Pt (NH;), Cl,

C) Octahedral Co(NH;); Cl4

D) Squareplanar Pd (NH;); Brr

E) Octahedral Colen);

where. en=1. 2 - di amino ethane

8 T8ST D97

FEYTEY) REGoH wawIwo/edirown §o
A) B[S NiCl, Bry

B) S&ode &8 Pr(NH;), Cl,

C) sxdop Co(NH;); Cl;

D) $%de S86S Pd(NHy), Br
E) ®3d0p Co(en)y”
(en=1.2-3 e5s5%33)

Options :

% AB,C,D

¢ B.C.E

[+2

% B.C.D

Lt

« A.B.C.E

-

Question Number : 153 Question Id : 4928631753 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The formation of terylene (or decron) from ethylene glycol and terephthalic acid 1s

2605 A6 So0ckn BELOF whoe DGy S6g MAcST BEdS (B BEE) Abb

Options :



a condensation polvmerization reaction

&8 Jodons oS08 €dg

an anionic polymerization reaction

o8 sdoirdd SOM080no Udg

an addition polymerization reaction

w8 Sofod FOEEine g

L

a cationic polymerization reaction

nE TLGrE FOSEESmO 54y

Question Number : 154 Question Id : 4928631754 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following carbohydrates has a glycosidic linkage?

- '-.

§od & rBSwd" G5 EE wodo ol 87

Options :
Fructofuranose

BEIrgsSs

Glucopyranose

i s P
fioes :.EDNE
o ‘

Maltose

SrSE

B - D - Fructose
i - [AERS
. B-D-pg=

Question Number : 155 Question Id : 4928631755 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Identify an antioxidant. an antiseptic. and an antibiotic respectively from the following

Bod T8 H0d ol clrolies§Ess. alrotiwns Hbokn drofndrtii S50
MBodod

Equamil Chloramphenicol Bithionol
REYIS ForRoIFs L8650 T
(A) (B) (©)
Aspartame Dimetapp Butylated hydroxytoluene
e IP EDo&rS 20eBBEa TE 8Os
(D) (E) (F)
Options :
. x ACE,
5 o FLC.B
z % B,D.E,
4 #® C D. P

Question Number : 156 Question Id : 4928631756 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

The major product (P) formed i the following reaction 1s

Cl
Conc. H,S0,4
2 + CCLCHO — > P
(&) A
Options :
CCl,
Cl Cl



cl cl
CHO
O8N oS
-
|

cl : i cl
fli'H
" Ccl,

CHO
a |«
L
|
- 1
=i e

Question Number : 157 Question Id : 4928631757 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The product (P) of the below reaction is

Bod $Ugs® A adyhdn (P)

OH
3Br,y p
OH
Options :
OH
Br
Br OH
1 B Br
OH
Br Br

5 % Br O



OH

Br Br
OH
o o BI‘
OH
Br
BT OH
4 % Bl-

Question Number : 158 Question Id : 4928631758 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The products A. B and C 1n the following reaction sequence are

Bob Sorg edEios'd sdyTmes A B, Cw
AN PCC H,N-NH, KOH
Me ‘ Ph s A — =5 B —
(CH,OH),
OH A
Options :
A B G

o
B

w9/

Me /\r\ Ph

NH,

I~

Me Ph



M O ep M W Pk Me/\n/Ph

0 N NH
“NH.
3 % i}
A B C
M
M e/\ﬂ/\Ph ; M e/\ﬂ/\Ph : M¢ Ph
T
O Nnm,
4 9

Question Number : 159 Question Id : 4928631759 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Identify A and B in the following reaction

Bob S0gS” A B od fofodod

O
|
&
@/ SNH, —=-3 A + B
= H30
Options :
A B
CH—NO,
@/ . NH,OH
1 &
A B
COOH

@/ . NH,
v

N



A B

COOH

Question Number : 160 Question Id : 4928631760 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

Which product of the following reactions fails to give carbyl amine test?

Sod :565&:@'5 :ﬁi‘jﬂﬁ ﬁreﬁg;ﬁ_“l@eﬁ"ﬁ TEE:'EE B 50 wdg 124255553 &2
Options :

Hoffmann bromide degradation

1% =
Gabriel phthalimide synthesis

i . NQ0RS TdPE Jogimo
Reduction of nitrites with LiAIH,
LiAlH, & mh_d.uu {enbltel>o10)

z ®

Reduction of tertiary amides with LiAIH,
LLi'slH & 3° J50be Eolsdc
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Answer

Q.No.

121
122
123
124
125
126
127
128
129
130
131
132
133
134
135
136
137
138
139
140
141
142
143

144
145

146

147

148

149

150
151
152
153

154
155

156
157
158
159
160

Answer

Q.No.

81

82

83

84
85

86

87

88

89

90
91

92

93

94
95

96

97

98

99
100
101
102
103
104
105
106
107

108
109
110
111
112
113

114
115

116
117
118
119
120

Answer

Q.No.

41

42

43

44
45

46

47

48

49

50
51

52
53
54
55
56
57
58
59
60
61

62
63

64
65

66
67

68
69
70
71

72
73

74
75

76
77
78
79
80

Answer

Q.No.

10
11
12
13

14
15
16
17
18
19
20
21

22
23
24
25
26
27

28
29
30
31

32
33
34
35
36
37
38
39
40

Note: D-> Question Deleted (Mark Awarded)
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